






,4 *;
*r

y*
*

:i"
 *O

;*
--

{ö §1
"*

& )p
*

§ ds
ga $ $Y
-

4 ü *#
.

,f ry

/#
k

h,
d.

d
# **§ {*

4 tff
i

#,
,, 

#,
"

iF
F

 
7

ü&
_

ry
 

5.
_.

P
fi :

'-&
r t*

N
Y

W
 (

T
i

ß
 

H
r

tr
&

Y
,ff

i
.d

. 
d-

ffi
*-

 fw
di

c}
-i

-/

##
ry {a

il"
F

sd

,+
F

 fu
,O

W ,r
c

tr k r& 'ff # d?
"*

--
*

-5
.- /e '§# #*

-

dl
4

{"
} 

I "r
,€ #r
*

*-
;-

.t#
&

 
- 

!,-
**

t
r 

'ä
# 

&
tr

.d
€F

# 't 
#t

r*
ig

#*
-ir ,*
"l

sr
§

r#
t

*r
F

ru
*1

fl ,,*
si

fl:
r'"

"*
fr

u-
 r

&
.,*

,>
.t#

iw
"'h

/#
" 

*d

t#

,,,
"f

iil
;-

'*
{"

J 
."

'
!h

ft-
-"

**

f{
}

=
.&

*
f 

., 
.,.

' 
'

F
9 

"'

-A
'T

P

,;x
u+

s:
x"

*
' .,.

*E
§i

l*
:::

'ff
F

,,r
ffi *

{r
fe

eh

rc
§

t
f'a

-}

't'
-%

*r
na

r,
r"

**
 

{h
!

F
*S

r*
f d-
--

#
rt

ffi
*.

{:
*'

§J qr
üü

rd # F *" 5,
$*

*$
rr

e {*
 f,

#
' 

q*
-*

*,
-/

*f
fi& # /r

y"
".

il
'#

 
N

-.
__

_s

ra
r 
t

& t

*-
tff

i
ff

ffi § w m
*

*6
,

te
@

s#
,@

!"
rt

^'
"

.,-
,."

.*
, 

"*
$'

 "
'g

ue
rt

*'

-,
{#

*"
-

"*
{f

,J
"f

fi:
!!j

!&
.§

q*
nr

Y
*F

 
lti

v

#f

s"
P

'

& I lff
i

Id
'

l-d l#
 *

r
t 
*.

g"
*

t#

##
N

d'
-

*, 1i
"d

rd
i$

{F
6s

e#
6

rw
,A

- 
fe

 t
§ Fr

ff
#J

 
"[

"e
#-

 
*l

*
,,#

 
_*

*,
 

rr
c"

s

fY *"
ffi

${
 

ffi

"l
6r

*-
.d

"

ft W *t ft '#
"r

e f* 4p tf, ffi
*-

*
w dl k #&

.*
o-

n

§§ V s# G
.d f,p

-
ffi ^*

§"
*k

-

r

l2
 

r<
 

r{
ry

(#
 

-il
 

ot
t 

üv
"!

ry
";

fi$



| .-*'
l*ä
t#I

ä #. ,ry 
.w

,ffireF
-{lb

# 
ul 

# 
sr,"r

$&
d

***w
 "t**

#
-A

-J
#"J**u",****r*d

#*"
" ffir*

*63

-/

\- 
!--

'l 
l

:itrl

/,T
)

( o"-*-r
r'?14
("1

qft",J

*L,ü

sln*e.1-
#J

*%
-@

,§\

{si/

Lr-'(F
- § 

ffi

ffiW
ltu#ri@

':"
6"" 

* 
ffi.*

ff#

M*""q#*d"*tgnf, 
"

.#f

"#'tdd{fl, 
.*i/

ffiffiH
dd

*riäS
"

**l,td-d

*#
ffi"*{
**.4
ffi#fu.r,

-*ffi
a 

#*/
.\ 

§

\,

w
#

ry

lx"ffi
rt3
_4b/*$

,*-fr/

q%lr#
,X

d
#r'-k 

I
!#t
;i # 

I

kl
'ü 

-tt--t"'**

$i,i{1ü§I'

#4
dN
,

dr§qcq*irü*rrr'

r§)

G
-r-E

-t

qr.,#"*#"§
n* t 

Y
'lä

e+
-" *

ryt ,f
T

'#
,ö##%
3

*)

{äffi
_p#

dI "-*-
I' 

t3
ddüad 

I 
-; 

"

1..--A
.r

t **m
**/

$

,d§*ö*S
§*ffit*§eiw

§*#
*"-'$ t.";

*$-*M
&

;F
f

,$

/'ry"
&

*ds
---*"t tuf

tr
E

J
r*n 

j
-- §w

sil{iF
dw

.

-

#
#rlr,/

ffil**
§,ffi

rkE--?
****'-***:}

"'"tä
&

q"""f
*'*# 

l

d 
**#

#-tF
*'

fi ffi'1
d"Ö

§e*rf
"l 

"r-r.
$dfü

_****'qä,,r'
*$

' 
$3ä

4de/c" 
'!

."re"* 
*T

 
:

\ 
nf 

:.

t 
§-,, i

i T
"'"-§ 

jg

ih#;
i 

*#-$
J 

J""'"*tt-- 
ä

,"i t 
d7 U

, 
-r* 

#'

: 
,.Y

J 
$

,, 
u.** 

§,
i 

**r 
ü

\-#

tr6-.*c@
*

'##ru#*eJ
**fu

#rt.
{}\.1I

§

*a**o*
.{#Fffi

"#

,"d
t 

,4*6.
f 

g3 
e*E

r' 
i,*

8# 
| 

'\1)

"M
 

l
T

ell'*f-
,f,*i&

I

t 
-,"*§/ 

ä

#s



0 1 2 3 4 5

kr0

0.10

0.15

0.20

0.25

0.30

0.35

0.40

0.45

Plot zu Aufgabe (b):
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